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(1) System.out.println( 1 + 1 );

(2) System.out.println( "1" + 1 );

(3) System.out.println( "1" + "1" );

(4) System.out.println( @ + @ + "=" + 0 );

(5) System.out.println( @ + (@ + "=") + 0 );

(6) System.out.println( @ + @ + ("=" + @) );
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BE1 ZHZERDKIDICES UTHIRBE U,
int ans, a=3, b=2;
RDEN=ZEZTURLEDEE ans DIEEZBZIE 0N,

(1) ans
(2) ans
(3) ans
(4) ans
(5) ans

a + a;
a - b;
b * b;
a/ b;
a % b;

BE 2 EHEROIDICESUL.

int a;

ROSNERTULEDEY a DIEZES XSSV,

(6) a=5;

(7) a=(int)1.2;

(8) a=(int)3.5;

(9) a=(int) (3.2 + 2.9);

(10) a=((int)3.2 + (int)2.9);

B3 BHERODIDICEE UTHIEAE LIS,

int ans=2, a=3, b=4;
RDENZ=RTULEDEE ans DIEZS RS0\,
(11) a = b = ans;

(12) b = ans = a;

(13) ans += a;

(14) ans -= b;

(15) ans /= ans;

B4 BHERODXIDICEE U THIEAE LIS,

int a=2, b=3;

ROBNEEZTUZEBEN (true T2IE false) ZBZRIRSU),
(16) System.out.println(a != b);

(17) System.out.println((a + 2) < b);
(18) System.out.println(((a + b) >= 3) == true);
(19) System.out.println((b % 2) == 1);

(20) System.out.println((a -= b) == -1);
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(3] ROZFI—FZXRTUCBEEENZE RSV, CCTI—FRPD
BITOINR =22 EF—BPERD RN TWVE T, BB NSNRNIZEIF %]
ZRERICE RIS\, (%5 2 5t 20]
(1) if(true)System.out.print("A");

(2) if(false)System.out.print("B"); else System.out.print("C");
(3) if(false)System.out.print("D");System.out.print("E");

(4) if(true); else System.out.print("F");

(5) int a=0; System.out.print(a++);

(6) System.out.print(2*2.3);

(7) System.out.print(ex10);

(8) System.out.print(10);

(9) System.out.print('A');

(10) System.out.print('¥¥');
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BEREEFE. (1 YE&EFD 1 DT, ( 1 )EEFEE, AN
SYUR%E 2 DEFDEEFTHD. fIC( 2 )ESFD( 3 VEEF%
( 4 VEEF=DHVIT, BERBEEFE 2 DOAXRS Y FEDEERZESTE
ML TCEZEEBZHRLE T, BEMBRI( 5 YRTI, HIRE BEE
F( 6 FHFELWHDESHDTBZEITVNET,

BREEFZAIVCR 1==2 OESEBRE( 7 )TI, /2. I a<b
DBESHERIT a DED b DIE( 8 )EE true TY, EL. aDEN b D
BELORENECEDBEERRE( 9 ICITDIHESIIR a<=b ZALFET,
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BE TIF =B N8 BE F& KFE #FR AA FrXb
boolean byte int float double String = += -= == |I=
> >= < <= true false XDKELN KXKDhSL) EFELLIEN
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import java.io.*;
class Intermediate5

{

public static void main(String[] args) throws IOException

{
BufferedReader br;
br = new BufferedReader(new InputStreamReader(System.in));
int a, b, ans;
System.out.println("2 DDE# a, b ZANTHBZIEDEIT");
System.out.println("E# a ZANDLTIES\");
a = Integer.parselnt(br.readlLine());
System.out.println("E# b ZANLTIESU\");
b = Integer.parselnt(br.readlLine());
System.out.println("fE%& "+a+"+"+b+"=?");
ans = Integer.parselnt(br.readlLine());
BESR
}
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